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Question Number : 1 Question Id : 5013142104 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The theory which explains how the relative prices of goods are determined 15 called ...
NI 08 50N o) DGOTP APON0T) ETTD A00T VFOT0

Options :

Financial economic theory
0% D00

Development economic theory
@05°8):590 P00

Microeconomic theory

- OFE ) el DT0eH0

Welfare economic theory

4 % DOE D esd¥ DT 00

Question Number : 2 Question Id : 5013142105 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Solving the problem of allocating scarce resource so as to achieve the greatest possible...............
§d¢ SO IEroN0sy RN B 8000 T 00

Options :

Production of services

- IO BnEY, ered el

Satisfaction of wants

g W s iy “ﬁ.\,g
2 \ﬁ; | ﬁl?_,. I:_A_U.pl_'lcll— 'F_F'Eplig

Satisfaction of services
- oo L. g
na0®) O3 ) €50



Satisfaction of wealth
3¢5 B ), e

Question Number : 3 Question Id : 5013142106 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The smd}' of economic system or economy as a whole lies outside the domamof .........
es0% 235380 OInE) eachahed0 B e 2580 Jw o B FO G0N0,

Options :

Public Er:mmmi-:s

1. % |20eb ¢ esBF 7 o

Microeconomics

5 @ P8 ] e TR0

Macroeconomics

. QAT @@ R0
3.

Mathematical Economics
rieded o) 7 Q0

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 4 Question Id : 5013142107 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

“How to pay for war” was written by ..........
“How to pay for war” &) |57 c0aT e

Options :

Alfred Mariha]_l
1 % B B8 S50

A C Pigou
.. T

TS mall

3 % ECMFFQO "?_F}



I M Keynes

kel
4 2.000. 537

Question Number : 5 Question Id : 5013142108 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The neo-classical economust “Says Law of Markets™ on the basts of assumptionof ..........
D37 M0 esd¥ Fed “Says Law of Markets” N (D00 e i &od.

Options :

Involuntary of unemployment

e0:0088) yeb ASE 0

Voluntary unemployment

_ SEinRlelarlevaille

Full employment
3 @ V0TG &E e

Unemployment

4% RE ek

Question Number : 6 Question Id : 5013142109 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The distinction between statics and dynamics 1s the difference between the two different
techniques of analysis and not two different ..........

%0, DO D0 Hed: B¢ B ) DEYT Sredd kD BeValeV
A

Options :

Sorts of Phenomena
, Q)i gaciren

1. %
Sorts of situations
HBEse

5 % o On) €282



sorts of procedures
DT oI EN)

Sorts of process

4w DB

Question Number : 7 Question Id : 5013142110 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the analysis considers the relationship between relevant variables whose values belong
to different points of time 15 known as ...

2.8 3¢ Derose D i) D00, AN 3. Denderd FBad
OO DEA0DILONS T

Options:

Static analysis
DAI® DEAR

Neutral analysis
€50 DBAED

Marginal analysis
Erarodh DB
3. %

Dynamic analysis

B0 DBAED
4. v

Question Number : 8 Question Id : 5013142111 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which economust 1s considered as master of partial analysis?
8 5 D306 BuE) TS SIS HBNBoTad0

Options:
Alfred Marshall

1 ¢ s DB TG0

A C Pigou
2 % C;:l.f%:'. 3}&?



TS Mill
3 % E000.0C

JM Keynes

4% 2.000. 837

Question Number : 9 Question Id : 5013142112 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Economics 1s:

QT D0 2.8

Options :

A Seience but not Art
DT TR0 570 E¥e T Q0 D

1. %
Not a positive science

- DS FV0 TN
A Posifrve science only

. D500 D TR0 AT habd

3.
A science or an art depending on who uses it and for what purpose?
ALY TR B 50 T @A wal ARVTFAT G B FEH o
05 e GO GoLN0A.

4.

Question Number : 10 Question Id : 5013142113 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The *Growth Definition of Economues’ 1s given by the economust.......... ..
@ TR0 3B &) YO NOSHTR) ErroBod ewdEns

Options :

Lionel Robbins

OO TR
1. %

Paul Samuelson

O T Yoo
2.9 '



Alfred Marshall

s D 3D
3. %

Milton Friedman
. WOR (DE D

Question Number : 11 Question Id : 5013142114 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Mlcrﬂecnnonucs and Macroeconomics were first comed by...
AT S 2 290 TR0 SNOCA AT e FV0 I T &gwqi_a F.oﬂmr:i‘:.

Options :
Ragnar Frisch

Y B IS5
1. ¢ o GL@,__qJ:Al

Paul Samuelson

5 PN WIS

Alfred Marshall
s |G 0O

Milton Friedman
OS5 (DE DS

Question Number : 12 Question Id : 5013142115 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Normative economies forms . _basedon. ...
(338 es0E 70 0 esTENE D850
Options :

Opinions, facts

| % e rairen, GhIrgren

Positive statements, facts

5 % aPASTO) 280N, CDTTTEN



Opinions, Personal Values
eod)rairen, He8ricd Denaden

Positive Statements, Values

4 % SROSTO (D5, DENDN

Question Number : 13 Question Id : 5013142116 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The relationship between supply and price 1s saidto be...... ...
Q0w DDA % DL DoVOTR), SEEWEINL eV
Options :

Seasonal
5P DE R O

Trregular
D EoT BRAST

Static
NERISHVEN @l

Dynamic

e R
. DO AT

Question Number : 14 Question Id : 5013142117 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The total utility of the consumer 1s maximum when marginal utility 1s

AATFHTER Fw 0 (DETFE0 (00T GOLVOA DN IES Graroeh [DATFRI0
w0l AV O]A]

Options :

Maximum
plereteley

Zero

> A" T



Infinite
D OEBOTT

Minimum

4% EQa0rT

Question Number : 15 Question Id : 5013142118 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In an equi-marginal utility analysis the margmal utility of last rupee spent on both the goods must
be

DR | DB DFASES D0 950 a0 |HTFEI0 s0O05) eI Loarom
Grar0s [H03re0 Do &omed).

Options:

Equal

- T OTT

Maximum

, x 0xorT

Unequal
R ITRIOTT

Minumnium
4% Eq0m

Question Number : 16 Question Id : 5013142119 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Cardinal utility analysis 1s based on the assumption that utility canbe. ...
0O (DOITRA D3N A (DATHTR) &N (NRFOHO NE) e 0.

Options :

Not measurable

_— FO0®0

Maximum

5 % ledste!



Measurable

.\“‘\

3 @ @0 20T

Minimum
",
Eds)0

Question Number : 17 Question Id : 5013142120 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Cardinal utility analysis assumed that the marginal utility of money ...
OIS (D2 DBAED (9950 E3w &), aT0ed |DATFBN0 ARALSVOTA)
Options:

Increases
DM

Decreases
> % S8HEOBD

No change
Ve RHVE=Tela Tty

Constant
NEOTT GOENOR

Question Number : 18 Question Id : 5013142121 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

When two goods are perfect substitutes of each other, the indifference curve 1s a
straight line on which marginal rate of substitution remans..........

D) BB D0 SR090 H8180 N0:TE e85 BN 1, GRS HEBm &od

DY) Eraroeh (2eh237) O Bew &0EN0EA
Options :
Decreases
b eh)
1. % '
Increases

5w 0heEr



Zero
3 % AT

Constant

L]
Sormr
4. & ¥

Question Number : 19 Question Id : 5013142122 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Shift and movement 1n demand curve are .
B5m08 B St OGS 465D D Bock
Options :

Different
1 @ 0B

Identical
2 % Qﬁ@.ﬁ“&ﬁ-[:

One and the same

3 % OO 2.5,®

Complement
RO LININIA

Question Number : 20 Question Id : 5013142123 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Market demand curve 1s the sumof ... .

08 G0l B e@Rd VL0
Options :
Demand for all goods

- 2] WY BSrodH

Individual demand curves
5 o S58Me S3roh Bpex



Individual supply curves
5:81es HAow Bepew

Supply of all goods
4 % BV NI 2)ON

Question Number : 21 Question Id : 5013142124 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the consumer from all the combinations of goods on an indifference curve gets equal

satisfaction, he will be .......... between them.

ANTFHTED ST 0D 2 &) ©Q) 050 SO SO0 2.8 D¢ DAragd
aR) FOAILNS & 500 55’3&;

IE

Options :

Prefers
D807 T AP DT

Partial

Indifferent

Biased

D8 b0
4, %

Question Number : 22 Question Id : 5013142125 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The consumer will be in equilibrium with maximum satisfaction when the

mdifference curve and buciget linesare .......... to each other.
DT TR GRS S EBDeN HBAW 2FE B2 Tock 8 jlols!
|DOIFTI0 PO DB OO EOLTE),
Options :
Intersecting

1 % MOS0 o

Crossing
o % PANERO0T



Parallel

3 % T 0AS 0T GOT)

Tangent

D80S
4, v

Question Number : 23 Question Id : 5013142126 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the demand and supply of a commeodity changes i the same proportion then the
equilibrium price of a commodity ... _
28 3¢ 305 T, Aros OGN HANOS’ @FB0S SP62) SN D1 SNY

G0 Srch
Options:

FRemains same
e T &ocod

Increases
2Dhenod

Decreases

éﬁtﬁéocsz

Becomes Zero
IR T ATC0ER0A.

Question Number : 24 Question Id : 5013142127 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The cross elasticity of demand for substitutable goods1s........ .
129652000 Ol SNy e 0688 GAr0H 758565 0
Options :

Negative
. |DEBBEFOOMT OLNO



Positive
IS0 SO0

Equal to one

3 % 2,5038 JDATFSOMT &otnod

Always Zero
2 HCR YT E0EN0A
4. %

Question Number : 25 Question Id : 5013142128 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

If the demand for a good 15 relatively melastic, the rise m price leadsto ...........
2.8 3¢ 38 B0l TEI% 20 0SIEIOM GO, S0 (8 DORE eod
Options:

Fall in total revenue
w0 erraDHoeS Dehedo DB

Total revenue becoming zero

- 200 TG 07 T Srdehod

Rise in total revenue
3 ¢ 200 esrraDo B0

No change 1n total revenue.

Su B0 SraHOS &) SP5))) GO

Question Number : 26 Question Id : 5013142129 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Production prices are determuned 1n factor market by the forces of..... ..

&858 S5 Cthen D & 3 dGonodacenod.
Options:
Entrepreneur

| % €8¢ L0 TN



Labour Union
|F"20508 D00

Marginal productivity

3 % €raJ06d cras )08 ed

Demand and Supply.

4o G306 SHBGY DROW

Question Number : 27 Question Id : 5013142130 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

There are three stages for variable proportion production function which stage 1s economical to the

entrepreneur?

JT0are eréh el D00 Srth CFeN0eran, GeitNmring Jdd ergrmrabio
Options:

Stage one only
| BOOE O3 SrS

All the three stages
o0TCR) CHFEN

Stage three only
S0TPC8 C5F S edal

Stage two only

OChad T &b
4 D0 5% 530

Question Number : 28 Question Id : 5013142131 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Dinunishing returns fo scale operate because the elasticity of substitution between factors
BT0N000 (DEBNETEN HRTN0A JOHEOT) ereh 18 S°U5°0) 3 (edaTed
TEEIS E0 &0N0A.
Options:
Negative

1 ¢ 20eres 50T



Not infinite
200883008 S CT

one
2,803

Zero

4 % ST T

Question Number : 29 Question Id : 5013142132 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The limitation of production function analysisis........_.

&e538 D0 DEA HOS
Options:

Measurement of quantity of capital
1 % SOE00 GIn 5 DONTEI0 TR0

Marginal rate of substifution
5 % G Oeh|ednT DN

Technology
ArOSe5002700
3.¢

Factor prices

4% créd 183 S5P) Cen

Question Number : 30 Question Id : 5013142133 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Short run production function presents the functional relationship between................ fora short
period.
N0 Gréd 18 He0 ¢z 1Saired)d DoOFR) B 10)I5erAE (D000,
Options:
Material and matters

| % DTPTEON 000 Daoiren



Costs and Revenue

, % S5OreD SVelenwWiepalalay

Output and profits

3 % €xéd e SO ergren

Inputs and Outputs

4o Qo 3 20 HOAW dredeen

Question Number : 31 Question Id : 5013142134 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

_______________ 15 called optimal combination of factor inputs or Producer’s equlibrium.
ECOLNTPEIR) NS0 T dréh 183 TUFe) N EOONED v 0L

Options:

List of cost and factors
Sg0sre HEE odakn THTen

Least- Cost Factor Combinations

5 @ ) L0 OO EO0ns

Linear cost function

3 % PO HAPL HOO

Law of vanable proportions

4% VORI AF|( 50

Question Number : 32 Question Id : 5013142135 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Average and Marginal cost curves in shortrunaremn ...
D £015°006 DEEN OGN G0 SLoHTWEN ... E0ETON
Options:
U shape

| U ss52306S



L shape
L es5e50eS’

V Shape

3 % V es5380eS

C shape

4% C a0

Question Number : 33 Question Id : 5013142136 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not a factor of production?
808 365 DA 55 52550 5°¢H

Options :

Capital

, w STHGR0

Momney

1E3a350
3.¢ -

Labour
[F05080

Question Number : 34 Question Id : 5013142137 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Macroeconomuic theory 1s also known as ............. Theory

Ty o8 ~ - B P ah o ™
fATE) QT ) W) TP O covmvnererenen OO0 eJETE 0Lt
Options :

Land and Labour
1. % 23aD o003 [_ﬁ“&jé@.@_)

2. %



Inflation and investment
1B5a3707620 DB A EP22E

Money and Interest

55950 SHBSD 5O

Income and employment

4 @ B0 DB &N

Question Number : 35 Question Id : 5013142138 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The economic agents in the business sector are called “producers” while the economic agents i the
household sector are calledas ............

T3y B0k @dd DB e &8 AL, KT B0H0S R wdE JEOLS

............ e0trd)

Options :

Capitalists
Y & Toew

Consumers

. DRAIFH T EED

Landlords
23R £a) S TP O0EN

Labourers
5°850e0

Question Number : 36 Question Id : 5013142139 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Intermediate products are defined as those produced and/or purchased and resold with or without
........ durmg the accountmg period.

T 00N FOOS' ... HBMEION) Beh 0KS0IE0E TNt SHdak edf
a0 B 469 183 T T¢3R R0 BAHE S N 0DTH.

Options:
1. %



Exchange
TG E0

Depreciation

> % SO

Further processing
eCD0 (S

Consumption
QA0
4. «

Question Number : 37 Question Id : 5013142140 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

National Income accounts in India are prepared by....... ..
PSS TE 2109 e300 BELOT s

Options :

Central Statistical office

- So|& im0l 8 eaho

Department of Finance
5 % SQETD

Department of Planning
15T Q8 T
3.%

Department of Commerce
e W

Question Number : 38 Question Id : 5013142141 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Which of the following 1s not a problem of measurement of national income?

1806 TS’ DO 2 B0% estrrod BE) 0y DedE 57

Options:
1. ®



Non-productive activities
@GS 5 08 Saaren

Non-marketed output
57063 TORA dred e

Measurement of intermediate products

2 % 0D BOHE ereh e Tnk) Tered

Govt. officer salary

Ao 12925068 § e @508 Veded0

Question Number : 39 Question Id : 5013142142 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

GNP at Market prices = GNP at Factor cost plus Indirect taxes minus.
0 B NG GNP = P05 505 5@ GNP+ HTE D) en.

Options:

Direct Taxes

oy ah ot w’.\ﬁf.‘l. 5
1 % Dk}}_.@._‘i &J.lclp_}u

Subsidies

5 @ 208 6en

Depreciation

edariocier

Income from services
DO 0k esrrodo

Question Number : 40 Question Id : 5013142143 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Two sector economy consistsof ...
BOCH BOITe) @308 038630 wmumummrmrenn SR &oenod.

Options:



Government and Business
19250e8 50 SDBCH) B0

1. %
Government and Household
2 % 15925068 80 2B HyaTrdotio

Household and Business
Haerdoiio D00 arfeardo
3.¥

Business and Foreign

4 % TErO0 0A DB Gofio

Question Number : 41 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013142144 Question Type : MCQ Option Shuffling : Yes

Accordmg to Pigou the savings move directly with mcome and rate of mterest and ... with the

real value of cash balances.

D) (N0 DS ST (2352 O erRoH0 HBA 58 Bend Jrtsod HBO5N
S A0 TUDE DENSE ... SFEROB.

Options :

Inversely
1 ¢ dSHor

Proportion

, % ©DSHOm

Directly
2685 S O
3. % )

No change
2 G0 BE00ch

Question Number : 42 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013142145 Question Type : MCQ Option Shuffling : Yes

The wage nigidity in the downward direction implies equilibrium of economue system with ...

3330 O TETEPIE0, w0 38359 ..

Options:

.............. & DDF 08 GOG HFAVOE,



Full employment

DO &E:heh

Dls used unemployment
199733837, RSE sied

Underemployment
€@ &5 iReh

Unemployment

4 Qo ened

Question Number : 43 Question Id : 5013142146 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A higher output 1s associated with higher levelof ...........
D802 €587E3 D) eS ST OWecrerrssrrsersnens 0022080528 &otnod

Options:

Employment
" ﬁ;’ﬁ;ﬁé‘ ?i;-'é

Consumption
M evialety

Inflation

oo oh
3 % 1C3ad 82 620D

Unemployment

DB RS
4, ®

Question Number : 44 Question Id : 5013142147 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The aggregate supply curve always left to right upward fill the full employment reached and there
after 1t becomes.........

Mgl 0N B N0F &N TT S5 I3 0B S48 D8 TendH0d BT ed
________________ 0005



Options :

Parallel to *X axis
. 2058 S0 S o

Vertical to *Y" axis

o % Y 2958 QYT

Vertical X axis

3¢ X eS8 ey

Left to right downward
DCED oS Hod8 18od Trewrr
4. %

Question Number : 45 Question Id : 5013142148 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Aggregate demand 15 a function of consumption and. .. n expenditure approach.
D) BITOS HO0 DATIFHO SIOCIN .o 2 DX TR0 0L,
Options :

Velocity

Investment
AN

Money supply
18338 B

Money demand

165558 G570
4.% =0

Question Number : 46 Question Id : 5013142149 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The consumption- income relationis. ..............
LT o WA OV i{a I To 75 Te TonTo IG_G_—_— 0008,

Options :



Negative
|De3drFeorr

Unrelated
OO0 BRAAOM

Irreversible

SMBAAT

Eeversible
D, mm. A
e E T

4. v

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 47 Question Id : 5013142150 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The formula of invest multiplier (K) 1s......
2EN2E MDEIESN DFBOK) oo

Options :

1
e
5 % MPC
1
K=
3 ® 1-M
.
4.«  MPS

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 48 Question Id : 5013142151 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The excess of gross investment over the replacement investmentis .............
o O = & !l = - 6 = . FRE T P = = =
a3 PGS Ed) e EPDES” PG D5 D 2008 @h.............

Options:
1. %



Negafive mnvestment

|De3dre P

Net investment
DES DePard

New Investment
VLTV LAV

Narrow investment
L0500 PG

Question Number : 49 Question Id : 5013142152 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Autonomous mvestment 1s independent of level of ...........
................... SFONE H00G0BEH0E D000 DO DEPE D 1o dorr Bheod.
Options :

Income

Output
€oed) ;‘__:;5

resoumrces

B
sdeatne

Profits
DAL DY

Question Number : 50 Question Id : 5013142153 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Other things remaining same, as the stock capital increases the marginal efficiency of capital 1s.
20feh HONBIOS JrB) Beios 0% SrO N A0 DONE &arod DY Yo
s CTOENOA,

Options :
1. %



Negative
PSIELMSTele

Unrelated
g 0DOLOMT

Increase

2otoed

Decrease

4o SHE

Question Number : 51 Question Id : 5013142154 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Liqudity preference does not dependsonthe ... . for money

..................... EEB0 (€3320 |OaTEe sD50D ¢ e3¢hBHnG &0ched.

Options :

Speculative demand

OIS Gdros

Entertainment demand
DS ASros

Transaction demand
SidTTe GIrod

Precautionary demand

4% 00D 2r|1ied Hadroh

Question Number : 52 Question Id : 5013142155 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
According to classical economusts the rate of interest 1s determmed by....... ... of money.
QORTOH es0E T (DSG0 HG Tensd APonoTA ...
Options :
MEC & Profit

| % MEC 0805w eraren



Profits & Demand

5w T N0 HArod

Demand & Supply
3 ¢ 0708 SHBAk MNo0eD

Supply & Profits

4% a0 SDBC erZren

Question Number : 53 Question Id : 5013142156 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Neo-classical interest theory 1s also known as..........__.
D3 DOTAD HETED DT OTRY, wvverrer o ETCh 0Tt

Options:

Financial theory
0% D080

Accelerator theory
Siied s6en TS0

Profits theory
eT2TO A0S0

Loanable funds theory
2206209 §EAD AL VT 00

Question Number : 54 Question Id : 5013142157 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The shifts 1n IS and LM functions can bring changes in the equilibrium rate of inferest and level of

IS 50050 IM 9008 5360 DS®E SEBENES’ 7] S0 DBGD .o OGS
T3 N0A.
Options :

Income

L= TR OVY)
1.4



Utility
12332300

Investment
NS

Consumption
e OG0

Question Number : 55 Question Id : 5013142158 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Irving Fisher equation MV=PT, V1s the ratio of the aggregate value of

outputto _.__...
30200 DD JFS0 MV=PT ' V3O €re5 18 D205} DONSIZD oo B0 Qi1 BT
%0308,

Options :

Demand for money

1&a35 Bdrob

Supply of money

5 @ B9 OO

rate of mvestment

Demand for immvestment

4 % P26 AIrod

Question Number : 56 Question Id : 5013142159 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In money supply Ma=Mi1+ ............
(5038 fOaaeS M3a=Mi+ ...

Options :

Demand Deposits
Grof G2ty
1. %



Other Deposits
Q655 ChareBe

Net time deposits with banks

2 rO%00) 50 g5 G e Sarety
3.¥

Saving deposits with post office
SFPENDD I €red) T BTREY
4. ®

Question Number : 57 Question Id : 5013142160 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

High powered money (H) 1n a country 1s composed of the currency held by the public (C) and

B0 3030 (B350 (H) (D30 TAS' &) S (C) DO
Options :

Time Deposits (T)
1 & SO G2t (T)

Demand Deposits (D)
&drof Garatn(D)

Required reserves (RR)
@aOabn e e (RR)

Commercial banks reserves (R)

4o T°EIeag 2T s0Bued ey e

Question Number : 58 Question Id : 5013142161 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Money supply multiplier is ratio of money supply (M)tothe ... ...
169638 DBDE 625300 0D (3638 DBDG EM)  orrrrrenn B0 DB GOLNOAD.

Options:
High power money

1@ P00 (D350



Money held by public

5 % DBV DG &) (G50

Post Office savings

- DS D)

Demand for investment

4% eP2d Gdrod

Question Number : 59 Question Id : 5013142162 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

For the control over money supply the Reserve Bank of India can exert influence upon the
monetary base (H) through ...
89552 DEHE AOHO(eED THEL 2TBCH B2BE)§ 2P EOKD wovvs (ST

1C5aa
ot L S &
|Deraeo Db ferc.
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Options :

Bank rate
27208 Ben

Current Deposits
0080 Hr2tD

Open market operations

3 @ 200N D60 2 edeTToEN

Credit rationing

4% BN OO EhE

Question Number : 60 Question Id : 5013142163 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Milton Friedman has concerved inflation as a process of “a steady and ... r1se in prices.”
MOR (D B DA G800 “28 RO sDOOIN s GdoeS DRGOM ™
0redomrdy

Options :

High
1 % e S



Steady

o, o
eI
TE I

2. ¢

galloping
HOTESCBO
3. % =

Slow
N TP

Question Number : 61 Question Id : 5013142164 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In the Stagflation sifuation declining output, employment and under-utilisation of productive

capacity on one handand ............ were found to co-exist.
N2 HBBS PN ereh 8, G HOHH @e) DATR & 3E Y0 28 39
DDA v DTS SY DT oI0) AFAREDIT &OLNOA.

Options :

Recession
1. % SO0

Depression
T3

Deflation
(2)e3CH3"E 0

Inflation
4 £330 €20

Question Number : 62 Question Id : 5013142165 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

One of the important characters of a business cycle exhibits a wave like vanationm ..........
290 5063 BDAE0 HEB0VEO e &S TS S5 B 2.8 0w ©F00

Options:
1. ®



Social activity
craar228 5rdrserdo

Legal activity

5 % INANTs R VE: el sTe]

Economic activity

3 @ el 0 Eerd0

Political activity

4 % or2280% T8 ¥erd0

Question Number : 63 Question Id : 5013142166 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Samuelson’s business cycle theory 15 developed mainly depending on propensity consumption and
.............. effect.
FTLANOLR T5arO DFO AFTOTR), DR [eded DO v 92PN S
SPING @H)B T,

Options :

Interest

e

1. %

Multiplier

Taxation

W
™ e by
(W] 3 |I::l_-"

Price
Se

Question Number : 64 Question Id : 5013142167 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The main objective of life insurancess. ... ..
BDed D TWEY (DTS ©F 20 v

Options :



Financial Security
1. v @RS L O

Life Securty
2065 25|55

Property Security
esyy 2[5

Business Security

Question Number : 65 Question Id : 5013142168 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which type of market competition 1s AR=MR=Price .. ... .
: S iR B
=MR=PIICE, ..cccoocrorerrccerrcrec §Pe3 00 VDD GOLNOA.

Options :

Monopolistic competition

_— BT fey &re3

Oligopolistic competition
> % 0 oy &rel

Imperfect competition
903" 573

Perfect competition

28I &re3
4. T

Question Number : 66 Question Id : 5013142169 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Price discrimination 15 possible only when transfer of any unit of the goods from one market to

another not done by eitherselleror ............
58 DL D PE5NIR 0O @OT) 28 s3I 2.8 508 ok TE D) w8

o

29050 TECRTR BE v 23770 )093 3.

Options :



Organiser

QO Lo 50c)
1. %

Entrepreneur
SN T Y

Buyer

Tonfien o
3. ¢

Producer

4 % dreb e ek

Question Number : 67 Question Id : 5013142170 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The main condition for monopoly 1sno close. ... for the product of that firm should be
available in the market.

D0z &3 5036 § (D50 A0 eV wemer 5006y J781.65 Sodosdiods
&omd),

Options :

Complementary

. 0

Substitute
(2065 £a33°) G
2.

Matching
Wetvila

Permanent

T3 5eh
4, ®

Question Number : 68 Question Id : 5013142171 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

One of the important features of monopolistic competition market1s.................
D& 2080 863 350,60 T ) OZETOS SNDEDISD v 53



Options :

Product differentiation
&’J@ S}Eidﬁo

Identical Product
8 BT 5800y

Complementary Product

L x TOE 5D

Substitute Product

4 % (PS50 ah NIV

Question Number : 69 Question Id : 5013142172 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The price determination under monopolistic competition market 1s based on demand and ...
8 WPsaga) Pe3 70 -“53 NTAVR TaleFAlolo\We RS AT AV R i oTa TV oo\ V)
Lo 856 20508,

Optlons

Marpnal cost
% CForr0ed Jdpaho

Variable cost

Tle) c;é' oo

Fixed cost

D 52500

costs
2 AITeN

Question Number : 70 Question Id : 5013142173 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

One of the impu::rl;ant conditions fm the firm equilibrium in the market1s
3786 S D0R DITF 2065 GOCHETVE 2,8 1DGS DZOC v

Options :



1 ® MR=AC

AR=MC

3 ¢ MR=MC

4 x TR=MC

Question Number : 71 Question Id : 5013142174 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In penetration pricing a business firm seeks to access deeper market penetration by keeping prices

TEPE D0 S FEFTR), 065 S ARNEODTRE 3006 B8 ) T &0t00E8.
Options:
Competitive
1. % rel
Flexible

Lower
H50).29

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 72 Question Id : 5013142175 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

An administered price 15 one that 1s imposed by a state or state mstitution m place of demand and
........ i the market.

Q8 5576 58 @0 (2925068 50 AYooD0B B 3818 S B0l OO ...ovo. FTROS
[9);3”@&. N0 ﬁ;oc‘éeﬂ.

Options :

Supply
1 @ Q0w



Exchange

, % Sr6%0

Consumption

Production
geehyed
4, ® =

Question Number : 73 Question Id : 5013142176 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In a perfect competitive labour market the wage rate 15 equal to the ... ..

D030 863 [F0E 0L S DS TED VA v 8 DATSOMT &0EN0A.
Options :

Value of margmal product of organiser
0 §3B08 Grarod e 8 DeN

1. %
Value of marginal product of capital
5 a0 A0 EralOed G5 o5 s e

Value of marginal product of Land

3 % 230 GrarOed crer ) ChEed e

WValue of marginal product of labour

4 |F08 raroed deme o8 ed Dewad

Question Number : 74 Question Id : 5013142177 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The economic rent 1s employed for the surplus earned by a unit of a factor of production over and
above the mmnimum ...................... to induce it to stay i the present use.

0% 21050 @0 2.8 S &) TEE0 NS GBS X0 & TITATRS
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Options :
Output necessary

~, A oy
2000030 cred el
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1. %



Profit necessary
223000 eSS0

Earning necessary

2990 TR DO
3. .

Sales necessary
290300 300 €96035°EN)
4. «

Question Number : 75 Question Id : 5013142178 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Public goods and servicesare. ... i utilisation by member of the society irrespective of
payment.

D2 SN0 B0 Ve DrEoS’D ey ¢8 TDoIE dowodo Bhod
DITPAODEOS i GONO0A,

Options :

Discriminatory
DIE DSAM

Non-discrimmatory

, o DIEBTSDIOT

Standard
L redgor
3. %

Exceptional
P TPOR OO

Question Number : 76 Question Id : 5013142179 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to Dalton “Public Finance 15 concerned with mncome and .......... of public  authorities
and with the adjustment of one to the other™.

FOS IFT00 HF IR ©oh (3T 00F00H STohD 00N
020A0DNEA HOC 2ETAE HTEE Sartn TRHTA.

Options :



Expenditure
1 @ 25000

Investment
EPE

Consumption
HIAevvisle

Welfare
e R
4% 03 o0

Question Number : 77 Question Id : 5013142180 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In the case of negative externalities, there would be a tendency to overproduce private good 1 the
absence ofany............ intervention.

|DBEPO ST G Jerod ... D0H0 Bedd e | DD 230D edEorr
£565)6 TR 5863 D8I 0006,

Options:

People

1% 2923

Society
5 % T2

Market

3 ¥ BNVe XN

Government

. BSEANELYS
4.

Question Number : 78 Question Id : 5013142181 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

When a social disturbance occurs, the government raises taxes to increase revenue and  mereases
............... to meet the social disturbances.

D) BS Prd 2010 2MA0E @53 TR NGEre) TOHERE (HZNB0 SO
20tHR0A sT0D0 VIFTE DO e 20TV,



Options :

Private Expenditure

o (23O )
1.

Public Expenditure

2. (D2 B

Consumption
3. ® STATe Vi ple)

Investment

Question Number : 79 Question Id : 5013142182 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A Wagners Law’s to state that, in fufure, the state expendifure would increase at rate  slower than
the ..........

T1)5 SPGB0 Tandhod D0 IS’ DB DAY ......... SO SK
0B SAHEN0A,

35 Bens

Options :

Non- tax Revenue
o~ 60 estrao

Personal Income
5£51eb escrabo

Tax Revenue
aIea)) oo

National Income

J"‘g;\i-\- a‘-\__g _'I-H" \I-
4#,31‘*@):’13 OO0

Question Number : 80 Question Id : 5013142183 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Public expenditure should be push to the pont where the satisfaction gained from the last rupee spent
15 equal to the satisfaction lost from the lastrupee ...

(22068 ¢ H:0SPR)) 0BIGH DOIILY)) @0, DAY T VIO GFoN A0G FOSS
€530 s D050 Boaran 0B PR Samd Neirnab; S8%.

Options:
Taken m Taxes

1@ D) BrEdoeS B0805)

Taken m Debt
, % @0} OFHOS SRFD)

Taken in Fine

- 2@ B0 €3:080/5)

Taken in Fes

D2 S0 Budad)
4, %

Question Number : 81 Question Id : 5013142184 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not an effect of public expenditure. ... ...
1BoB ¢35 DA (D80eh 2 5:ANO T0EY, (20 BB o

Options :
Private Expenditure

| o 23O D)

Distribution of income & Wealth
e3CPONO0 NOA3 DODE TBnE) Do

Economic Stability
esB8 wded s0

Economic Growth
es0% 530

Question Number : 82 Question Id : 5013142185 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



According to the benefit principle the state should levy taxes on individual according to the
......... conferred on them.

DETES PGS0 80D HEHBOT TEOFOAY e RVO0D (D250 Do)
BT,
Options :

Losses
1 % NER DY

Debt
@9a) N

Benefits
1203322000

Burden
200

Question Number : 83 Question Id : 5013142186 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Example for Ability to pay taxi1s..........
TOOT a0 30080 2283 D0 & TTTOD e

Options :

Corporate Tax
SOSPTLN al))

Life Tax
BN DS

Sales Tax

3 v 29530255 20e))

Income Tax
T oVVE I TR VR

Question Number : 84 Question Id : 5013142187 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Sales tax levied on pub]ic B8 o s
129230 2 DA0TT a38a) a3cd] 258 crevrirerereen

Options :

Direct Tax

| w PSS 0

Indirect Tax
D05 o c-j-.'\:ﬂ )

Progressive Tax
3 % a3 TT1a00) adadd))

Regressive Tax
3T THa0/d adedd))
4. ®

Question Number : 85 Question Id : 5013142188 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not an objective of the public debt _.
800 T3S A (52506 § 220600 TBnEy ©F 30 FAO....

Options :

To finance Individual consumption

1 o 58S DTS &R draPo

To Finance War

5w OGRS @RS JFahain

To finance development plans
. 2985)Q (DerP ey esdd Hiraho

To curb inflation
1£3e3 80 )60 e0BEE)R0
4, ® i

Question Number : 86 Question Id : 5013142189 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s a disadvantage of public debt....... ...
808 T3S’ B D 19206 g 22020 W), (DBEFEID GOBD oo

Options :

Control on natural calamities
1 % (058 3HBeSge D dobo|ghea

Public Works can be Implemented

5 % (22T AN 2020080 STIaTI))

Secure Investment

- B8 e oed DEPE

Public burden increases

4 20238 2 2F80 o d

Question Number : 87 Question Id : 5013142190 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Chairman of the fifteenth finance commission in India1s. ...
eG54 1520 @308 D00 TE) BWOI® wneeceressssarnnn
Options :

Y V Reddy
| % B ole

N K Singh
2 . 2. e30h

Vijay Kelkar
22300 3.0

C Rangarajan
. Soloras

Question Number : 88 Question Id : 5013142191 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The president of India appoints Finance Commission under.___.

grGed O eded @08 000 TEIR D ceeereenenr 90000 AW
Options :
Article 260

1 % 208 260

Article 270
> » =85S 270

Article 280

3¢ esDE 280

Article 290

4 % ©R8S 290

Question Number : 89 Question Id : 5013142192 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The 15% Finance Commission recommended the vertical devolution of the divisible tax pool at.......

152 Q% D00 27O €75 ) & NeNeY DI HONEE ............ VTN ) DROE.
Options :
41 percent
ﬂ'\ll.\
1. x.._.’-:‘) 41 T@Dﬁui
42 percent

42 T
®

40 percent

3 % 40 )

39 percent

39 TFW)
4. %

Question Number : 90 Question Id : 5013142193 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Income and Expenditure statement for a financial year prepared by government 15 known

28 @B DoISITAE (Do SOFD T emrabo Hio Hore HER
................ 29083,
Options :

Capatal
1 Q E;_{A.\A:'nl?_: é.' f‘\i‘o

Budget
2. v 286

Finance

2D,

Revenue
esO0

Question Number : 91 Question Id : 5013142194 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Economic growth refers only to the quantity of goods and ... produced i a country m a financial
year.

@08 330 o360 28 «@df J058)808 2.8 BIoS G618 TS SNIOKH HOA
................ AP VR ATIVOTA

Options :

Machmes
1. % CLoE®

Population
2% BT

Food grams
&3O e

Services
5 'l
ol @)

Question Number : 92 Question Id : 5013142195 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

Growth 1s a part and parcel of development but development 1s not a partof ......

5B TO 9dIHOS 270 50 @98SHD T ......... & ZFHOSED

Options :

Progress
e

Technology change
arOBeds At

Growth

3.v 999

Structural change
QDT ETed18 S0

&

4, %

Question Number : 93 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013142196 Question Type : MCQ Option Shuffling : Yes

Human development Index 1s constructed by taking Health, Educationand .........._.
S35 B FDED V0008 B30, DESE OO0 wmmmrn ~) 305006006,

Options :

Polifical Change
To22805 S8

Standard of hiving
5 o B0 [DATEI0

Gross Domestic Product

3 8 WO 2700 ereh )23

Technology Change

4y TOSBE SN0

Question Number : 94 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013142197 Question Type : MCQ Option Shuffling : Yes



Big Push theory was developed by_.._.

NG @) VPTPOBTN) @SB TrIIT wrreserssenrens

Options :

Adam smith
1 % @D NS

David Ricardo
BI6 653

Lewis
g OTONR

Rosenstein-Eodan
TR WD - TR
4.

Question Number : 95 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013142198 Question Type : MCQ Option Shuffling : Yes

Balance growth in the under developed economy i1s possible only in the ..
o g Y = P4 = 2 £
20859 @ TOER @308 32906 DTS 099B wonnveerinnn ATV T ola )

Options :

Long run
&G se0

Short run ’
505065

Medmum term ’
HFCFEaDE SO0

Within no time
D DNAHoS Jae

Question Number : 96 Question Id
Correct Marks : 1 Wrong Marks : 0

: 5013142199 Question Type : MCQ Option Shuffling : Yes



According David Ricardo International Trade 1s advantageous only under. ...
BaG 057 1500 SOTTEN TEPE0 e 8065 S7¢had (DT EB0T GO0,
Options :

Zero costs
R, afOsIPe)

Comparative costs
p
) @ BOTEBE SiAire

Absolute cost difference
R0FC 530N e

Zero costs difference
A eILON) I SEFERTED

Question Number : 97 Question Id : 5013142200 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Heckscher-Ohlin international trade theory based main assumptionis ...
275 - 57D e0STEA TG DEOSO ... HHADO S STFEHE
2780 - 2arOR @0SHT S0 afard AP0 ... (20000 o0 BT OO

Options :
2 Goods, 2 Countries, 2 Factors

| DO Seagen, 2 T e, 2 °H5en

1 Good. 2 Countries, 2Factors
1 SN, 2 BFew, 2 sO5ew

2 Goods, 2 Countries, 1 Factor
BOC Y en, 2 TFew, 1 680

2 Goods, 2 Countries, 0 Factor
4 % DO WY, 2 TF°e, ), 5760

Question Number : 98 Question Id : 5013142201 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



According Singer-Prebisch the prices of primary products declne faster m developing  countries
than prices of Industrial products of developed countries in the longrunand  ferms  of  ftrade
becomes ... to developing countries.

2016 - (2O (D500 B0 @50 TodS Brosd FO TN &b ihe Gde
43 @250 Tochéhd) BFos Q s SWye Gden ok i edar daodden
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Options :

Favourable
1 % ©ITOIIG

Unfavourable

NSO FE TR
2.

No change

3 % S BAE

Profitable

4% ererorodio

Question Number : 99 Question Id : 5013142202 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Devaluation of currency 1s useful when the price elasticity of products 1n other countries

G de0d oy 388 FToS VIO OO FEDS0 E3)N
G03rHE00T G080,

Options :

Unitary elastic
28 I EIES 0

Infinite elastic
e00eh 75 THed t0

Relative melastic

3 ¥ S @ 5 t0

Relative elastic
S TSI f0



Question Number : 100 Question Id : 5013142203 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Foreign Trade Policy 2023 amms at bwlding partnership with state governments and takng
forward the Distriefsas ...............

2023 DB 58 TS0 ©F £0 T (T LOSE ZPMr 1050 O DO s T
20X SNTOEO.

Options :

Women Hubs
NI BO|T°eN

Innovation Hubs
)86 Solren

Import Hubs
Ariaded So|mren

Export Hubs
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